Priklady k procviéovani

Zadani:

Jsou dany saadnice bod ¢islo 1 az 10:

¢islobodu y(m) x (m)
1 732 205,15 1012 416,91
2 732 189,94 1012 543,38
3 732 159,33 1012 300,72
4 732 050,08 1012 426,08
5 732 351,08 1012 418,02
6 732 132,05 1012 505,39
7 732 055,59 1012 301,77
8 732 293,77 1012 313,49
9 732 272,39 1012517,69
10 732 260,67 1012 469,06
a na&rt jejich vzajemné polohy:
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Reseni:

01,10 51,99 19
O53= 265,04 9%
018 = 154,89 68
O102= 351,57 53
O39 = 30,58 18
04,10 87,18 39
0.4 = 255,57 08
016 = 356,04 15
O109-= 15,05 56
Og 4= 327,55 3%



